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REVISION

* Trigonometry

TOPICS:

e Geometry
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Q) If sec x cosec x = 2, then what is ‘Ean“ x + cot™ x equal to?

(a) 2 (by 2n+1
(c) 2n (d) on-—1
(J—)( - ) y fan" us” + @f" 45"
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Q) If sec x cosec x = 2, then what 1s tan™ x + cot™ x equal to?

(@ 2 (b) 2»*!
(© 2n (d) 2n-!

Ans: (a)
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cos® A —sin? A /_\, Q@SQA)Q* (ﬁlajn@j

Q) What 1s equal to ?
cos” A—sin? A 1 0SZA - Sin*A
(a) cos® A—sin?A (b) cosA—sin A
© 1 d 2

(oA + S0P Y eot’h—s70%)  _ @

(o4 ) “
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cos? A —sin? A

Q) What i1s equal to ?
cos® A —sin® A 1
(a) cos® A—sin?A (b) cosA—sin A
© 1 d 2

Ans: (c)



CDS 2 2024 - REVISION - MATHS - CLASS 12

Q) If 7 sin?x + 3 cos® x =4, 0< x< 90°, then what is the value of

tan x? —
@ 2 (b) 1
V3 1
© @ 5
9 ) y S 300
Tsmx + 3(/*5177 K) = 4
45y = | Fonx = fando’ = [
Q}Y)Ql = L \6
4
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. ] ' N
| o Sit= ), IS Wjecpr)



CDS 2 2024 - REVISION - MATHS - CLASS 12

Q) If 7 sin?x + 3 cos® x =4, 0 < x< 90°, then what is the value of
tan x?

@ 2 b) 1
V3 1
(c) - (d) NG

Ans: (d)
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Q)Ifsinx + sin? x = 1, then what is the value of cos®x + 2cos®x
+ costx ?

(@) 0 (b) 1 Nt = |- St
© 2 @ 4 5’/\n / ln
Sy = 087K

4___.—--")

( 4
o981 + Qos + 0K 0 N ‘

9 L
(0s2) "+ Qass’e) + (t5%)
' , = 1yl :@
f/on(’% + o?flng?é + Stota v
iy + sinde + P e

) o ' 0 A 9
qux(fmzufm 1) + fln%(fm x+§/nx)
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Q)Ifsinx +sin?x= 1, then what 1s the value of cos®x + 2cosfx
+ cos?x ?
@ O (b) 1
(c) 2 (d 4

Ans: (b)
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Q) What 1s the value of
cosec268° + sec?56° — cot234° — tan222° ?
@ O (b) )
¢ 1 d 2

e a0+ ') — o (w-5) = {166
T~ fats — oot
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Q) What 1s the value of

—

c0sec268° + sec?56° — cot234° — tan222° ?

@ O (b)

2
© 1 d 2

Ans: (d)
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Q) Iftan0 +cotb = i,where 0<6< g then sin® + cosB is

75
equal to
@ 1 n B
J3+1 .
© = @ 2 Ginsp + 030"
K4
-~ + V3 = L q 2 4
C "

7Lm)9 C97¢9 b = 74"
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Q) Iftan0 +cotb = i,where 0<6< g then sin® + cosB is

J3
equal to
@ 1 n B
© */52” @ 2

Ans: (c)
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Q) What is sin*0 — cos*0 equal to for any real number 6?
@) 1 (b) 1-2sin?0
() 2cos?0+1 (d) 1-2cos?0
sm*o — cos’o
(/ - oor’s) - cos's

[~ 9o

—
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Q) What is sin*0 — cos*0 equal to for any real number 6?

@) 1 (b) 1-2sin?0
() 2cos?0+1 (d) 1-2cos?0

Ans: (d)
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1
Q)Iftan?x + =2 and 0° <x<90°, then what 1s the
tan™ x
value of x ?
(@ 15° (b) 30° | —Max. meu_e_
(c) 45° (d) o0°
Tan = /
4 - #50

_.-—-—'_""-——
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1
Q) If tan’ x + ol x 2 and 0° <x<90°, then what 1s the
X
value of x ?
() 15° (b) 30°
(c) 45° d) e0°

Ans: (c)
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l—sinx l—sinx COS X

If p= V= :
Q) 5 l+sinx’ /cosx l+sinx v

then which of the following 1s/are correct ?

A p=g=r

2. p = gr
Select the correct answer using the code given below.
(@) 1 only (b) 2 only
(¢y Both 1 and 2 (d) Neither 1 nor 2

| aof%(k/ﬁ'/bf) _ f Una &
/”F L T T
(1m0 [#Shx = Snx ’
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] —sin x ] —sin x COS X
QIf p= q= r=

1+sinx’ cosx  l+sinx
then which of the following 1s/are correct ?
. p=g=r
2 p2 = gr
Select the correct answer using the code given below.
(@) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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3 3

Q) If sin x + cos x = p and sin"x + cos
p3 — 3p equal to ?
@ 0 (b) —2¢

c) 2q ) 44

boog 4 sgmose (p) %

3: ?/ T 3(}P:{'/27(/7
._i:_@__B_,f)g——B
g f ugﬁ
A =P

T ————

x = ¢, then what 1s

R N 130 & X4 VR (ffn% 7‘099’9

(Gion +05x)" = [ 39z W%

/bp' = [+ o?g’;noc(X)Q%
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(68) |
/9% = (9/nx+ @91)3
= gnrt 09539( + Sl o o 3 afms’e — Bgna - Seox

_59/0 ~ B9 ” 2 065 2
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3 3

Q) If sin x + cos x = p and sin”x + cos
p3 — 3p equal to ?
@ O (b) —2¢

(¢) 2q (d) 4q

x = ¢, then what 1s

Ans: (b)
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Q) What 1s (cosec x — sin x) (sec x — cos x) (tan x + cot x)
equal to ?
(@) smn x + cos x (b) sin x — cos x
(©) 2 d 1
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Q) What is (cosec x — sin x) (sec x — cos x) (tan x + cot x)

equal to ?
(@) smn x + cos x (b) sin x — cos x
(c) 2 d 1

Ans: (d)



CDS 2 2024 - REVISION - MATHS - CLASS 12

Q)If sec © + tan 6 = 2, then what 1s the value of sec 6 ?

(b) V2

5
(d) 2
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Q)If sec © + tan 6 = 2, then what 1s the value of sec 6 ?

(b) V2

5
@ 5

Ans: (d)
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(sin © + cos 0) (tan © + cot 0)

Q) What 1s
sec O + cosec O

equal to?

(@) 1 (b) 2
(c) sin© (d) cos©



CDS 2 2024 - REVISION - MATHS - CLASS 12

(sin © + cos 0) (tan © + cot 0)

Q) What 1s equal to?
sec B+ cosec O
(@) 1 (b) 2
(c) sin 6 (d) cos 6

Ans: (a)
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5 1+2smm8cosb _
Q) If a° = : > then what 1s the value of
1—2smn & cosf
a+1?
a—1
(a) sec 6 (b) 1

¢ 0 (d) tan 6
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5 1+2smm8cosb _
Q) If a° = : > then what 1s the value of
1—2smn & cosf
a+1?
a—1
(a) sec O (b) 1
(c) 0 (d) tan 6

Ans: (d)
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Q)If 3 sin x + 5 cos x = 5, then what 1s the value of
(3 cos x — 5 sin x)?

@ 0 (b) 2
(¢ 3 d) 5
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Q)If 3 sin x + 5 cos x = 5, then what 1s the value of
(3 cos x — 5 sin x)?

@ 0 (b) 2
(¢ 3 d) 5

Ans: (c)
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Q) The value of
cot 5°.cot10°.cot15°.cot60°.cot 75°.cot 80°.cot85° .

5 > 1S
COS + COS +
(cos? 20° 70°) + 2

(@)

1
5 ©3 © 7 @
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Q) The value of
cot 5°.cot10°.cot15°.cot60°.cot 75°.cot 80°.cot85° .

1S
(cc»s2 20° + cos” 70°)+ 2

(@)

1
b) = — 4 M=

Ans: (d)



CDS 2 2024 - REVISION - MATHS - CLASS 12

X
Q)Ifsin 17°= —, then sec 17° —sin 73° is equal to
y

2

y Y
(a) y2 —X2 (b) (X«\/yz —XQ’ )
X X2

N L
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X
Q) Ifsin 17°= —, then sec 17° —sin 73° 1s equal to
y

2

y A
(a) y2 —X2 (b) (X«\/yz —XQ' )
X X2

o (B @b

Ans: (d)
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Q)If 0° < 6 < 90° then all the trigonometric ratios can be
obtained when
(a) only sin 6 1s given
(b) only cos 6 1s given
(¢) only tan 6 1s given
(d) any one of the six ratios is given
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Q)If 0° < 6 < 90° then all the trigonometric ratios can be
obtamned when
(a) only sin 6 1s given
(b) only cos 6 1s given
(¢) only tan 6 1s given
(d) any one of the six ratios is given

Ans: (d)
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Q)If cos x + sec x = 2, then what cos" x + sec” x equal to,
where n 1s a positive integer?

@) 2 by 2"~7
(C) 211—1 (d) 211



CDS 2 2024 - REVISION - MATHS - CLASS 12

Q)If cos x + sec x = 2, then what cos" x + sec” x equal to,
where n 1s a positive integer?

@) 2 by 2"~7
(C) 211—1 (d) 211

Ans: (a)
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3—tan® A

If =K
Q) 1—-3tan® A4

where K 1s a real number, then cosec A(3 sinA —4 sin”A)
1s equal to

@ 2K
VoK1
2K 1
v —< K <3
(b) K_l,where 3
2K 1
(c) ——, where K<< or K >3
K -1 3
@ 2K
K +1
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3—tan® A

Q1 -K

1—3tan® A4

where K 1s a real number, then cosec A(3 sinA —4 sin”A)
1s equal to

@ 2K
VoK1
2K 1
—< K <3
(b) K_l,where 3
2K
(©) , where K <= or K >3
K -1 3
@ 2K
K+1

Ans: (c)
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() oo, Lerh= I (48 +57)
JABL = 160°— Leop | Uc/fc deﬁ[aﬁm/)

A,Lygg)/
LAQB = }QDQ—— (LBAD -)-L/)BC)

() 26 = 18— 21 =1’ 5"
/d = /go°—Cc/o°+9?°) =

In the given figure, if ZPAQ=59°, ZAPD =40°, then what

i1s LZAQB?
(‘d) 19° (b) 20°
() 2 (d) 27

Ly = /9~ LS§
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Q)

0

In the given figure, if ZPAQ=59°, ZAPD =40°, then what
1s LZAQB?

(@ 19° (b) 20°

(© 22 d 27

Ans: (c)
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Two circles with centres 4 and B touch each other
internally, as shown in the figure given above. Their radii
are 5 and 3 units, respectively. Perpendicular bisector of
AB meets the bigger circle in P and 0. What is the length
of PO?

@ 26 ®) V34
© 46 @ 62 L
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Q)

Two circles with centres 4 and B touch each other
internally, as shown in the figure given above. Their radii
are 5 and 3 units, respectively. Perpendicular bisector of
AB meets the bigger circle in P and (. What 1s the length
of PO?

@ 246 b) 34
© 46 d 62

Ans: (c)
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Q)

In the figure given above, what is ZBYX equal to?

(a) 8&5° (b) 50°
(¢) 45° d) 90°
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Q)

In the figure given above, what is ZBYX equal to?

(a) 8&5° (b) 50°
(¢) 45° d) 90°

Ans: (a)
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Q) B

In the figure given above, O 1s the centre of the circle.
What 15 ZA0OC?

(a) 160° (b) 150°

(© 120° (d) 100°
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Q) B

In the figure given above, O is the centre of the circle.
What 1s L40C?

(a) 160° (b) 150°
(c) 120° (d) 100°

Ans: (d)
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Q)

J

D

In the figure given above, 4 is the centre of the circle and
AB = BC = CD. What 1s the value of x?
1

(@) 20° (b) 223°

(c) 25° (d) None of these

C




CDS 2 2024 - REVISION - MATHS - CLASS 12

Q)

J

D

In the figure given above, 4 is the centre of the circle and
AB = BC = CD. What 1s the value of x?
1

(@) 20° (b) 223°

(c) 25° (d) None of these

C

Ans: (d)
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Q)

In the figure given above, what 1s LCBA?
(@) 30° (b) 45°
(© 50° (d) 60
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Q)

In the figure given above, what 1s LCBA?
(@) 30° (b) 45°
(c) 50° (d) 60°

Ans: (d)
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Q) 0
P R
X
04 M
U ¥ 4

In the figure given above, O 1s the centre of the circle.
The line UTV 1s a tangent to the circle at 7, LVTR = 52°
and APTR 1s an 1sosceles triangle such that 7P = TR,
What 1s Zx + £y + £z equal to?

(@) 175° (b) 208°

(c) 218° (d) 250°
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Q) 0
P R
X
04 M
U ¥ 4

In the figure given above, O 1s the centre of the circle.
The line UTV 1s a tangent to the circle at 7, LVTR = 52°
and APTR 1s an 1sosceles triangle such that 7P = TR,
What 1s £x + Ly + £z equal to?

(@) 175° (b) 208°

(c) 218° (d) 250°

Ans: (c)
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Q) A circle of radius 10 cm has an equilateral triangle
inscribed in it. The length of the perpendicular drawn
from the centre to any side of the triangle 1s

@) 2.5v3cm ®) 5V3cm
© 104/3cm (d) None of these
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Q) A circle of radius 10 cm has an equilateral triangle
inscribed in it. The length of the perpendicular drawn
from the centre to any side of the triangle 1s

@ 2.5v3cm ® 5V3cm
(c) 10/3 cm (d) None of these

Ans: (d)
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Q) AC is the diameter of the circumcircle of the cyclic
quadrilateral ABCD. If ZBDC =42°, then what 1s ZACB
equal to?

(a) 42° (b) 45°
(c) 48° (d) 58°
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Q) AC is the diameter of the circumcircle of the cyclic
quadrilateral ABCD. If ZBDC =42°, then what 1s ZACB

equal to?
(a) 42° (b) 45°
(c) 48° d) 58

Ans: (c)
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Q) A tangent is drawn from an external point D to a circle of
radius 3 units at P such that DP =4 units. If O is the centre
of the circle, the the sine of the angle ODP 1s
(@) 4/5 (b) 3/4
(c) 3/5 (d)y 12
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Q) A tangent is drawn from an external point D to a circle of
radius 3 units at P such that DP =4 units. If O is the centre
of the circle, the the sine of the angle ODP 1s
(@) 4/5 (b) 3/4
(c) 3/5 (d)y 12

Ans: (c)
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Q)ABC 1s an equilateral triangle. The side BC 1s trisected at D
such that BC =3 BD. What is the ratio of 4AD” to AB*?
(@) 7:9 (b) 1:3 (¢c) 5:7 d) 1:2
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Q)ABC 1s an equilateral triangle. The side BC 1s trisected at D
such that BC =3 BD. What is the ratio of 4AD” to AB*?
(@) 7:9 (b) 1:3 (¢c) 5:7 (d) 1:2

Ans: (a)
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Q) Out of two concentric circles, the diameter of the outer
circle 1s 26 cm and the chord MN of length 24cm 1s
tangent to the inner circle. The radius of the inner circle
1S
(@) Scm (b) 6cm
(c) 8cm (d) 10cm
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Q) Out of two concentric circles, the diameter of the outer
circle 1s 26 cm and the chord MN of length 24cm 1s
tangent to the inner circle. The radius of the inner circle
1S
(@) Scm (b) 6cm
(c) 8cm (d) 10cm

Ans: (a)
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Q) Two circles, each of radius », with centres P and Q, are
such that each circle passes through the centre of the
other circle. Then the area common to the circles is less
than one-third of the sum of the areas of the two circles

by
N 2
@ = ®)
2
©) Var d /32

2
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Q) Two circles, each of radius », with centres P and Q, are
such that each circle passes through the centre of the
other circle. Then the area common to the circles is less
than one-third of the sum of the areas of the two circles

by
N 2
@ = ®)
2
©) Var d /32

2

Ans: (c)
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Q) In a AABC, AB = BC = CA. The ratio of the radius of the
circumcircle to that of the incircle 1s
@) 2:1 (b) 3:1
(c) 3:2 (d) None of these
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Q) In a AABC, AB = BC = CA. The ratio of the radius of the
circumcircle to that of the incircle 1s
@) 2:1 (b) 3:1
(c) 3:2 (d) None of these

Ans: (a)
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Q)An equulateral triangle BOC 1s drawn mside a square ABCD.
Ifangle AOD=20, what 1s tanf equal to ?

@ 2-43 b®) 1+4/2
©) 4-43 @ 2+.43
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Q)An equilateral triangle BOC 1s drawn 1nside a square ABCD.
Ifangle AOD=20, what 1s tanf equal to ?

@ 2-43 b®) 1+4/2
©) 4-43 @ 2+.43

Ans: (d)
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Q) Suppose ABC1s a triangle with AB of unit length Dand E
are the points lying on AB and AC respectively such that
BC and DE areparallel. If the area of triangle ABC 1s twice
the area of triangle ADE, then the length of AD 1s

(a) % unit (b) % unit
(©) L unit (d) L unit
J2 J3
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Q) Suppose ABC1s a triangle with AB of unit length Dand E
are the points lying on AB and AC respectively such that
BCand DE are parallel. If the area of triangle ABC is twice
the area of triangle ADE, then the length of AD 1s

(a) % unit (b) % unit
(©) L unit (d) L unit
J2 J3

Ans: (c)
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Q) Inthe figure (not drawn to scale) given below, P is a point
on AB such that AP: PB=4:3. PQ1s parallel to AC and

OD 1s parallel to CP. In A ARC, ZARC =90°, and 1n

APQS, £ PSO=90°. The length of OS1s 6 cms. What 1s
ratio AP : PD?

C

(@) 10:3 (b) 2:1
© 7:3 (d) 8:3
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Q) Inthe figure (not drawn to scale) given below, P 1s a point
on AB such that AP : PB=4:3. PQ1s parallel to AC and

OD 1s parallel to CP.In A ARC, ZARC = 90°, and 1n

APQOS, / PSQO=90°. The length of OS1s 6 cms. What 1s
ratio AP : PD?

C

(@) 10:3 b)) 2:1
(© 7:3 (d) 8:3
Ans: (c)
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Q) Let Sbe an arbitrary point on the side PQ of an a cute angle
APQR. Let T be the point of intersection of OR extended
with the straight line PT drawn parallel to SR through P. Let
U be the point of intersection of PR extended with the
straight line QU drawn parallel to SR through Q. If PT=a
and QU = b, then the length of SR 1s

a+b a—b
(@) o (b) h
ab q ab
(©) a+b (@) a—-b
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Q) Let Sbe an arbitrary point on the side PQ of an a cute angle
APQR. Let T be the point of intersection of OR extended
with the straight line PT drawn parallel to SR through P. Let
U be the point of intersection of PR extended with the
straight line QU drawn parallel to SR through Q. If PT=a
and QU = b, then the length of SR 1s

a+b a—b
(@) o (b) h
ab d ab
(©) a+b (@) a—-b

Ans: (c)
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Q)In a right angled AABC, ZC=90° and CD 1s perpendicular

1
to AB. It AB x CD = CA4 x CB, then o is equal to

1 1 1 1
(a) B2 A2 (b) B2 (B2
1 1 1 1

+ — 51 >
© Bt s @ For "ot h
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Q)In a right angled AABC, ZC=90° and CD 1s perpendicular

1
to AB. It AB x CD = CA4 x CB, then o is equal to

1 1 1 1
(a) B2 A2 (b) B2 (B2

: + : d : - : 1fCA>C
© BC2 T CA2 (d) BC2 o2t > (b

Ans: (c)
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. X _ Y _Z
Q) In the given figure, if 37175 where ZDCQ = x,

ZBPC =y and ZDQC = z, then what are the values of
x, y and z, respectively?

(@) 33°,44° and 55° (b) 36°,48° and 60°
(©) 39°,52° and 65° (d) 42°,56° and 70°



CDS 2 2024 - REVISION - MATHS - CLASS 12

: X _Y_Z
Q) In the given figure, if 37175 where ZDCQ = x,

ZBPC =y and ZDQC = z, then what are the values of
x, y and z, respectively?

(@) 33°,44° and 55° (b) 36°,48° and 60°
(©) 39°,52° and 65° (d) 42°,56° and 70°

Ans: (b)



LIVE@®

s -,\:. ™ ‘
B \ . =
/ s Y
" \

REVISION

1ssBCrack

NAVJYOTI SIR




CDS 2 2024 - REVISION - MATHS - CLASS 12

HAURI[\' - Geometry
TOPICS : e Statistics

(23/08/24)




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61
	Slide 62
	Slide 63
	Slide 64
	Slide 65
	Slide 66
	Slide 67
	Slide 68
	Slide 69
	Slide 70
	Slide 71
	Slide 72
	Slide 73
	Slide 74
	Slide 75
	Slide 76
	Slide 77
	Slide 78
	Slide 79
	Slide 80
	Slide 81
	Slide 82
	Slide 83
	Slide 84
	Slide 85
	Slide 86

